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QUESTION 1

Exhibit.
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Referring to the exhibit, a volume in the Value storage service level is storing 10 TB of data. What is the maximum
number of IOPS that the volume would receive?

A. 1280
B. 5120
C.128
D. 512

Correct Answer: A

QUESTION 2

You are designing a new hybrid cloud solution. The nonfunctional requirements state that you must be able to integrate
identity management for SSO authentication.

In this scenario, what are two supported identity management providers? (Choose two.)
A. OAuth

B. SAML

C. YAML

D. Azure Active Directory

Correct Answer: AB
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QUESTION 3

You must consolidate your branch office Microsoft Windows file servers Into the cloud with the objective to centralize ail
Microsoft Windows file shares (SMB) into your Active Directory domain. After analyzing your unstructured data set, you
find that 10% of the data Is active and 90% of your data is archive data. You deploy NetApp Cloud Volumes ONTAP in

Microsoft Azure and enable data tiering to tier off data to object storage, leaving all the defaults for the capacity tier.

In this scenario, by default, which storage class is used for your archive data?

A. nearline storage class

B. cool storage tier

C. hot tier

D. coldline storage class

Correct Answer: B

QUESTION 4

You are designing a solution to detect potential insider threats. Your corporate file shares are hosted on NetApp ONTAP
arrays.

In this scenario, which two approaches using NetApp cloud services would be appropriate? (Choose two.)
A. Configure Cloud Insights with an Automated Response Policy.

B. Configure Cloud Data Sense service to assign Azure Information Protection (AIP) labels automatically to all files that
match the criteria that are defined in a policy.

C. Configure Cloud Backup service for your corporate file share, and ensure that the target is not in the same cloud
provider as the source.

D. Configure a Cloud Secure agent with a User Directory Connector.

Correct Answer: BC

QUESTION 5

Your manager asks you to include steps In your NetApp Hybrid cloud deployment to reduce the risk of a developer
accidentally interfering with your mission-critical applications that are in production.

In this scenario, which step would you perform?
A. Identify federated NetApp Cloud Manager\\'s identity to your company\\'s SSO.
B. Use dedicated NetApp Cloud Manager accounts for development and production environments.

C. Isolate the production\\'s VPC network from the development\\'s VPC network.
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D. Enable multifactor authentication (MFA) for privileged administrators to access NetApp ONTAP software and NetApp
Cloud Manager.

Correct Answer: C

QUESTION 6

You deployed a custom application on AWS that uses MongoDB as the backend. The database files of MongoDB reside
on an iSCSI volume hosted on NetApp Cloud Volumes ONTAP in high availability mode.

In this scenario, what is required to provide fault tolerance for applications when one of the storage nodes fails?
A. ONTAP only

B. load balancer

C. Fabric Pool

D. iSCSI multipath 1/0 on the client

Correct Answer: B

QUESTION 7

Your customer needs assistance developing a cloud storage solution that allows access from both NFSv3 and SMBv3
clients. You recommend Azure NetApp Files. In this scenario, which two satisfy the requirements? (Choose two.)

A. Azure Active Directory Domain Services (AADDS) |

B. Azure Active Directory (AAD)

C. Active Directory Domain Services (ADDS)

D. DNS servers that are reachable from the Azure NetApp files delegated subnet

Correct Answer: BC

QUESTION 8
You want to deploy NetApp Cloud Volumes ONTAP In AWS using NetApp Cloud Manager.

In this scenario, which two network protocols need to be specified in the security group rules to initiate a connection with
your AWS tenant? (Choose two.)

A. LDAP
B. SSH
C. ICMP

D. HTTPS
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Correct Answer: AB

QUESTION 9

An IT organization transformed from an asset-based management approach into a service- provider approach by
implementing adaptive QoS and multiple points of automation. Now, performance and cost of the system are
predictable. Which two metrics would the organization start to report after such a transition? (Choose two.)

A. throughput for each storage array

B. IOPS per TB per month

C. cost per GB per month by service level

D. latency per each storage volume

Correct Answer: BC

QUESTION 10

You are deploying NetApp Cloud Volumes ONTAP to support a relational database workload. You must protect data
from an intermittent loss of network connectivity to a single zone in a public cloud data center.

Which Cloud Volumes ONTAP feature accomplishes this ta
A. end-to-end encryption

B. multi-zone high-availability (HA)

C. ONTAP storage efficiencies

D. intelligent cold-data tiering to object storage

Correct Answer: B
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